A

s, b, e, A)= PAIc) Plefa,b) Pla) peb)
P, b)=> .§_ plab,cd) =2 %r( Aic) plelab) Pa) peb)
C c

= P(a)plh) %{r(c(A,(,)‘(Zp(Alc)J= playp(h) LP(cl4b) = P@yPb) -

~Vvy \_,_Y_/
T 1
¥
allb|o
THh%
AT R U5
2 b
Cc
A
_ 70(a.b,4)
olo,bld)= ettt
= widlab)pcas)
bd)
_ Plabipmnb) — O
#d)

et plald) p(b1A) = BIARRT 10T a Y b | A 153,



('}o(a,b (A)="F ’4’;;:;'”"@1/»" PCald) p(bld) t@%ﬁzﬁmg?’zz;u: £ 5:55#})

Plorhd)= Pplatol)ptbid)

YRR ER T 33243t
ptab, d)= piald) pleld)pd) D

‘Z.f}&a
27 pla,b, M EBAZTE T B A PE I3 F AR LT by PR3

Pla,b,4) = plalb,4) plbld) pd)
= plalb,d)pld(b) wb)
=P(bla, Ariald)Pd)
=2 (b tadlpidia) pl4)
=p(dtabh)Platy) ptb)
T P A&, h)plbla) pla)
© 2% foln b) = pia) pb) By Pe(b) = P04) o rlbmé{m B 13
plab,h) = plafb,d)ploldrd) — <«— .

= plalo.d)pldls) ) Plab)=puiMb) 7y
='P(b(ﬂ,d)1’(“d) ’(/) ?("b‘,d): ﬂ‘ld) I+3 2% 0

= p (o | ad)pedia) vl PO LZARIFAL 2i0rE

= p(dab)Pla)ph) {_1’““:") P(b) = pla(d) oa\ T'ds
= P (At h)plb) pla)

zm. ot plo,b,)9 715 0 D PR T TE IR

Q 2@ AP ER imlaﬁ"@n:{%g%‘?;z}t

T la, b A) 11 peald) p(bld) = [E




